
����������� 	���
��
�� 
� ����������� �
 ����� ���
� ��

� ���� ������
� �
����������� ��

� ! "����� � �������
���� ��	��
� �
�����
�� ��
�� �
�
�
�� �� ����	���	� �
�
	���� �	�
��	� ����
���
 �� �
������
�	� �
����
�� 	�� �����
�

�	�
��	� ����
���
� ��  
	���� �
��
��	� !� �"#$� ��%
��
�	���
�� �� &���
������ !�'
�� ��
�
��
��� !����
	�� (�
)
�� �	�	�	  *' �+,

�
�

�
�- *" .���)
� �""�/�
�
�
�- �# 0
)��	�� �""�

�������� �	
�
�� ��
 
���	�
����	� � 1� 
2 	)��

343 
� 
���	�
����	��� �
����
� �5�
� �
	�� 	6���
�	��
� �����	�
��� 7�
�� �� 	��
�� ���
��
	��4 8�

7�
�� ��
5�
��� �	��
� ���� �"  9 	� "�� �� �""  9
	� �*��4 %)��
 �*��� ��
 	6��� :
�
 5�

��
��4 8�
�
:
�
 )
��	)�
 ��� �* ; � ; �*��� 8�	� 
�� ��
� :
�



��
� 5�

��
�� �� �����	�
����� 7�
��4 �
��: �*���
�����	�
��� 7�
�� :	� ��
 ���� ��	)�
 
�
�
��4 8�

��
�	�� 
<
��� �� ��	��
� 
� �
��
�	���
 �� ��

���
���
�� 
��
� ����
��� :
�
 �� �	�
�� �� ��
 �
=
�	�
� �
��
7
� ���	��
�� ��	��
� �>� 	�� ��
 ���
��

�� ��	��
� ��	4 8�
 �
�
�
�� �� �> �	� 	 ��" �� *4,*4
8�
 
<
�� �� � �� ��	 :	� ���
 �����
�	�
� 
� ��	�
��
 �
	� ��	 	���
���
 
���
	�
� :
�� �� 	� �
���=
���	�
� 
� 
	��

� �
�����4 8�
� 
<
��� 	� :
�� 	� ��

��	��
� 
� ��	 �
�
�
�� ������
� )� ��	��
� 
� ��
:
�
 �
�
��
� 
� ��
 ����
6� �� 	 ���
� �� ��	 �	�
��

� :�
�� 	��
�	�
�� 	�� 
�	��
�	�
��� 	�
 �����
�4
?�
���
�	� 	��
�
�� :	� �
���	�
� 
� 	 ���
� �� ��

	��
�� ���
��
	� :
�� 	������
	�
 �
��
�	���
=�
=
�
��
�� ���
7�	�
��� ��� ��	 	�� �>4 8�
 ���
�
��
�
��� 	 ��	��
 ���� ������	)
�
�� 1�����	�
���
7�
��2 	� �
�	�
�
�� ��: �
��
�	���
� �� )
��	)
�
��
15�

��
��
 	�� �����	�
��� 7�
��2 	� ��
 �
��
�	=
���
 
� �	
�
�� �����:
� )� ��	��
 )	�� �� ������	=
)
�
�� 15�

��
��
2 	� ��
 �
��
�	���
 
� �����
�

���
	�
�� :�
�� 
� ����
��
�� :
�� ��
 
6�
�
�
��	�
�
�����4

#�� �
���$ �
��
 @ %����	�
�
�� @ %��	�
�
��
@ %��
�� ���
��
	� @ 8
��
�	���
 @ ���
��	��
� �	�
��

�
��
�����



?6�
�	)�
 �
�)�	�
� ���	��� 
6�
)
� 	 �
���
 ���
 ��
)
�	�
�� 
� �
�����
 �� 	 �
�
� �
� �� 
6�
�
�
��	�
����
�
���4 0�� 
6	���
� 	6��� 

��
� �
�� 5�

��
����

� ��
 	)�
��
 �� 	 ��
������ �� ��
� �
�
�	�
 	� 	�=
�
�� ���
��
	� 
� �
�����
 �� 	 �
���	�
9
�� ����
��
����
 �� ��A�

���� �	��
 	���
���
 1 ����
� B
 �6�
�� �$C�24 �� 	 �
: 
���	��
� �:� 5�	�
�	�
�
��
�
<
�
�� ���
� �� )
�	�
�� ��� ��
 �
� �� ����
�
���
�	�
 )

� �)�
��
�� ���� 	� �
�
�
�
�
 7�
�� 	��
5�

��
��
4 8�
� ���� �� )
��	)
�
�� ������ 
� �5�
�
�
	�� 	6��� :
�� �
���
� 
6�
��	� �	��
�� 
�� ���=
�
���	�
�� 1'����	�� D
:
� B �
�9
�� �$#"2 	�� 
�
�	�
�	�
� �	��
	� �
��� 1E	�
�
 B %��9
�
�
���� �$3$F
���

�� ��	� B ������� �$$"24 8�	��
�
��� )
�:

�
��
 �:� ��	)�
 ��	�
�@5�

��
��
 	�� �
�
�
�
�
 7�=

��@�	� )
 ������
� :
�� ����
�� ����
�4 0�� 
6=
	���
� 	 )�

�=���	�
�� �
���	�
9
�� ����
 �	� ��
��
��
�
 ��
�	�	�
��� ���� 5�

��
��
 �� �
�
�
�
�
 7�
��
	��� ����
��
��� 	� 	������
	�
�� �
�
� ����
�� ����

�	� 	��
�
�	�
 �
�
�
�
�
 7�
��� ��
�
)� ��
��
��
��
 ��
�	�	�
��� �� ��

� �
��
�� ��	�
 1E	�
�
 	��
%��9
�
�
���� �$3$� '����	� 
� 	�4� �$#"F 24

?�
� ������ 	 �
�
�
�
�
 ��	
� �� 	��
�� ���
�=
�
	�� 1%&�2 �	� )
 
�
�
�
� ���� �5�
� �
	�� 	6��� :
��
	 ����	
�
� �
���	�
9
�� ����
�� ����
 
� �
	:	�
�
����	
�
�� �
���
� �	��
�� 
�� ����
���	�
��
1'����	�� 
� 	�4� �$#"2� �
�
�	� )
�	�
�� �	� ��� )

�
�)�
��
� ���
� ����
����
�	� ����
�
��� 1��	�� �$$#24
.��� 	 �
���
 %& 
� 
�
�
�
�� �
�	���
�� �� ����
 	�=
��
���
 �� ���	�
��� :�
�� 
� ����
��
�� :
�� ��
 ���

��
 	6�� ��	�� 
� �5�
� )
�	�
�� 1.�
� 	�� '
����
�$$"F ��	�� �$$#24 �
�
����� :
 �
����
�
�� �
�
�=
�
�
������� ��	� ��
 	6�� 7�
� %&� �
�
�
�
�
�� 
� ��

	)�
��
 �� ����
�� ����
�� 
4
4� 
� )
���
� 	� 	����=
����� ���
��	���� :�
� ��
 
���	�
����	� � 1� 
2 
�
�	�
 ��
����� 	��	�
�
@343 �� �
��
� 1��	� B ���

��
�""�24 ����	� � 
 
� 34*4 8���
 
6�
�
�
��� :
�


E4 !
�)�	�
 �
��4 �#3� ��*G��* 1�""�2

�.�- �"4�""3/�""�*�=""�="�,C=*

�����	
�����
� ��� E4�4 ��	�F 
�	
�- H���	�I�
���4�
�4���



�	��

� ��� 	� �
�	�
�
�� ��: �
��
�	���
� 1� � C��24
%� ���:� 
� ��
� �
����� ��
 	6�� 
� )
��	)�
 :
��
	��	�
�
 � 
 :�
� ��
 �
��
�	���
 
� :
��
� ��

����
����
�	� �	��
 �� ��
 	�
�	� 1� � �C��24 8�
�

�
����� �	�
 )

� �
���	�
� ��
�� ��
 ��	� 1�$$#2
���
� �� �5�
� �
	�� 	6�� 
�
���
�	� 	��
�
�� )� 	��=

�� ��
 	������
	�
 �
��
�	���
 �
�
��
��
 �� ��

�	�
�� �	�	�
�
�� �� ��
 ���
�� 	�� ���	��
�� 
��
����
���4 %� ���
� 
� ��� �
�
�� �
���� 1��	� B
���

�� �""�2� ��
� ��
�	�	�
�� �	� �
��
 	� 	 ��
���
���
� ��� 5�
��
��� �� ������
�
�� 
� �
��
 �
�� ��
=
�	�	�
���� �
�
� ��
 ��)����
�� �� ��
�
 �
�����4

%�������� �
� %���
��

?6�
�
�
��� :
�
 �
�����
� �� �
	�� 	6��� ���� ��
 ������

����� %��	��
� �5�
� 1������ 
�����2 	� ��
 !	�
�
 �
����
�	�

D	)��	���� 
� J����  ��
� !%� ��
�� ��
 	6
	� :
�
 ����	�
= 	��

����
��=��	�� �
���
5�
 :
�� 
���	�
����	� �
����
��� 	� �
���
)
�


� ��	� 	�� ���
�
��
� 1�$#*24 8�
 �
��
�	���
 
� ��
�
 ��
�	�	=

�
��� �	��
� )
�:

� "�� 	�� *"��4 �� 	�� �
�
� 
6�
�
�
�� 
� :	�
�	
��	
�
� �����	�� �� :
��
� "4��� )� 	 �
�	�
�
 �

�)	�� �
���
�
����
��
� �� 	 &
��

� �
�
�
 ���	�
� :
��
� ��
 
6�
�
�
��	�

��	�)
�4 8�
 
6�
��	� �����
�� :	� 	��
7�
	� �
	:	�
�� :�
��

����
��
� 1
� �!2 �� K*" �	��� �" >��� �" �	���� C" !����� 	��

�" 8�
�= �� 1� L 34C24 8�
 
���	�
����	� �����
�� ����
��
� 1
�

�!2 �� K"" ������
� �C" >0� *" �	 ����	�	�
� 	�� C" > ����	�	�
�

:
�� ��
 � �
��	�
� �� #4C )� ��

 ����	�
� 	�
�4 0�� ��
�
 ���=

�
�
���� ��
 �
�
��	� ���
��
	� ��� ���	��
�� 
���� �>� :	� �#" �M

	�� ��	� ��
 ���
�� 
�� �
�
��	� ���
��
	�� :	� ,K �M4 8�
 ����=

	�
=��	�� �
����
��� �� ��
 �
�	�
� �
��
7
� ���	��
�� 
�� ����
��

�> 
� 0
�4 # :
�
 �)�	
�
� :
�� �
�������6
� 188N� �
��	2 	��
�

�� ��
 
6�
��	� �����
�� �� )���� ��
 ���
�� 
�� ����
��� ��	4 8�


�
����
��� �� ��	 
� 0
�4 $ :
�
 �)�	
�
� :
�� 	� 
���	�
����	�

�
����	�
 ��	� ����
��
� �� K"" �! ������
� �C" �! ��0� 	�� C"

�! �	 ����	�	�
 1� 34�24 8�
� �
����	�
 
<
��
�
�� 
�
�
�	�
� �>4

������
� �
���	�
��� :
�
 �	��

� ��� :
�� ��
 !	��
�	�
�	

����:	�
 �	��	�
 1J����	�� �$$$2 ��
�� ��
 �
�
�
� ���
� �� ��


�5�
� �
	�� 	6�� 	��
�� ���
��
	� ��
�
����� �
���
)
� 1��	�� �$$#F

��	� B ���

�� �""�24 8�
 
5�	�
��� ��� ��
 
��
� ����
�� �����=

�
��� 	�
 �
�
� )
��: 1	�� %��
��
624

!������

�&.�8%�?.�� 0����' .0 %�8�.� &.8?�8�%D� J�8 
%D>%D��? � 
@8?!&?�%8��?� �?&?��?��?

�5�
� �
	�� 	6��� 	�
 ��	������
� 
��� 	���������
���
��	���� :�
� ��
 
���	�
����	� � 1� 
2 
� �	
�
�
	)��
 �343 1��	� B ���

�� �""�24 8�
 �
��
�	���

�
�
��
��
 �� ��
 	��
�
�� 
� 
������	�
� 
� 0
�4 �4 8�

7�
�� ��
5�
��� 	� "�� 
� ��
� ��
�	�	�
�� :	� �*  9�
:�
�� :	� 
���
	�
� �� �3� C"� 3$� �K*� 	�� �K�  9 	�
��
 �
��
�	���
 :	� �	
�
� �� *4�� 34C� ��4#� �34,� 	��
�*4K��� �
��
��
�
��4 %� �
��
� �
��
�	���
� ��
 	6��
:	� ��� �����	�
����� 	��
�
4 0�� 
6	���
� 	��
�
��
�
	�
� 
� ��
 
6�
�
�
�� 
������	�
� 
� 0
�4 � �������

&�' ( 8
��
�	���
 �
�
��
��
 �� �����	�
���

7�
�� 
� �5�
� 	6��� :
�� 
�
�	�
� � 
 1� L

#4C24 ������ �	�
�- ������� 	��
� 
���
	�
�� � ��

�C��� ��
 	6�� �
	�
� 7�
��4 8�
 7�	� �
: %&�
��
�� �� �
��	�
�� �� 	��
�
�� 	�
 ���:� �
�
4

��K E4�4 ��	� 	�� %4 ���

�- �
��	)
�
�� 
� %6���



	��
� ��
 �
��
�	���
 :	� �	
�
� �� �C��4 8�
 7�	�
�
: %&� ��
�� �� �
��	�
�� �� 	��
�
�� 	�
 ���:� �
�

1)����� �	�
�� 0
�4 �24 ��

�=���	�
�� ����
�� ����
�

�
�
�
� %&� ��� �L �34,�� 10
�4 �� ��� �	�
�24 J�
�
��
 �
��
�	���
 :	� �
���
� �� �C4K��� ��
 �
�=
)�	�
 ���
��
	� ���
��	�
� �
��
7�	���� �����:
�� ��


%& 10
�4 �� �
���
 �	�
�24 %� �*��� �����	�
���
	��
�
�� :	� �
=
��	)�
��
� :
�� 	 ����
�� ����
 10
�4
�� )����� �	�
�24 �� ���
� :����� ��
 	6�� :	�
������	)�
 ��� �O �*�� :
�� ��
 �
��
�� ���
��
	� 	�
��
 ���� ��	)�
 
�
�
��4 �
��: �*�� ��
 	6�� :	�
)
��	)�
4 �
��	)
�
�� :	� �)�
��
� ��� �* ; � ; �*�
10
�4 *24 &���
� �
����� ���� ���� �
<
�
�� 	6����
:�
�� 
������	�
 ��
� �
���� 	� :
�� 	� ��
 �
��
�	���

�
�
��
��
 �� ��
 ��
5�
��� �� �����	�
��� 7�
���
	�
 �
�
� 
� 0
�4 *4 %�� �� ��
�
 �
����� :
�
 �)�	
�
�
:
�� � 
 L #4C4 %� ���
� ��
�
����� 1��	� B ���

��
�""�2� )��� ��
 7�
�� ��
5�
��� 	�� ��
 ��	�
 �� ��

����	�
 :	�
���� ���
�� ��
 	��
�
�� :
�
 
�=
�
�
��
�� �� � 
 
� ��
 343 �� #4C �	��
4

%� 
��
�	�
� 
� 0
�4 *� �����	�
��� 	��
�
�� :	�
��
 ���� ��	)�
 �
	���
 �)�
��
� 
� ��
�
 ��
�	�	�
���
��� � ; �*��4 % �
���� 
� ������� �� ��
� �������
��

� 
������	�
� 
� 0
�4 K4 %� ���
� )� J
���

 1�$332� 	
)�

�=���	�
�� ����
�� ����
 �� ��
 	������
	�
 	�=
��
���
 ��	� 
��
��
� ���� 	 �
��	� �	�
�	�
� �	�


��
� 	��
�
�	�
 ��
 �
�
�
�
�
 	��
�
�� �� �	��
 	�
	)���� �
�����
��
�� 
� ��
 ��	�
 �� ��
 	��
�� ��=
�
��
	� ��	
� :�
� ��
 ����
 
� 	���

� 	� 	 ��
�
�	�
��
�� 
� ��
 �	�
�	�
� ����
4 8�
 ����
� �	�
 ���=
�
������ �� )
��	)
�
��� ��
 �	��
� �� ������	)
�
���

4
4� �����	�
��� 7�
�� ����
��
� �����:
�� 	 ����
�
�
�	���
�� �� ����
 	���
���
 �� ���	�
��4 �� ��
 
6=
�
�
�
�� �
���
)
� 
� 0
�4 K� 	 �=��
� ����
 �� 76
�
	���
���
 :	� 	���

� 	� 	 �
�
� �
�
� ��� 
� ��

���
����)
� ����
� ��
 ����
 
�
�� �" %&� 1�L C��2�
	�� �� :	� 	��	��
� 
� �=��
� 
���
�
���4 %� 
	���
�
�
� 
� ��
 ����
 �
�	�
�
�� �
���
 ��	��
 ������
� 
�
��
 �
�
 �� �� ��
 %& ��)�
5�
�� �� ��
 ����
 1���
�	�
�� 0
�4 K�24 �� ���
� :����� ��
 ��	�
 �� ��
 �
=
�
�
�
�
 	��
�
�� :	� 
��
��
	��� ����	��
�4 %� 	
��
�
�	� ��
�� 1��/�" � "4,� :�
�
 �" 
� ��
 ���	�
�� ��
��
 ���
����)
� ����
2� 	 �
��
7�	�� 
���
	�
 
� ��

&�' ) 0�
5�
��� �� 7�
�� �	4 �
��
�	���
4

?	�� ���)�� �
��
�
��� 	 �
<
�
�� ��
�	�	�
��4

�
��: �*��� ���� �����	�
��� 7�
�� :	� �)=
�
��
�4 �
��	)
�
�� :	� �)�
��
� ��� �* ; � ;

�*��4 %)��
 �*��� ��
 	6��� :
�
 5�

��
��4

&�' * 8�	��
�
�� ���� )
��	)
�
�� �� 5�

��
��
 ��� � O �*��4
�	�
 ��
�	�	�
�� 	� 
� 0
�4 �4 %)��
 � L �*��� 	� 	��
�� ��=
�
��
	� :	� 
�
�
�
� )� 	 ����
�� ����
 1��� �:� �	�
��24 8�
 ����
��

����
 ��� 	�� * �
����� 
� ���:� 
� ��
 )����� �	�
�4 J�
� 8 :	�

�
���
� ���� �34,� �� �C4K��� ���
��	�
��� 1PP�
��
��QQ2 �� ��

�
�)�	�
 ���
��
	� ������
� �����:
�� ��
 %&4 %� �*��� �����	=
�
��� 	��
�
�� :	� �
=
��	)�
��
�4

E4�4 ��	� 	�� %4 ���

�- �
��	)
�
�� 
� %6��� ��C



������
�4 J�
� ��
 ����
 :	� 	���

� � ��
� �	�
��
��
 ��	�
 :	� 	)������ 	��	��
� 1��
�� �	�
�� 0
�
K�24 %� %& :	� 
�
�
�
� 	����� 
��
�
	�
��4 % �
�=

�	� �
���� ������
� ��� 	�� �	�
� �
�
� 
� ��
 ����

1)����� �	�
�� 0
�4 K�24 8�
� �
�����
��
�� 
� ��	�

�
�
��
�� 
� 
������	�
� )� ��
 	���: 
� 0
�4 K�4 8�


	��
�
�� :	� ��� 	��
�
�	�
� �
�	���
�� �� ����
 	�=
��
���
 1���
� �
����� ��� ���:�2 
� �����	�� ��
'����	� 
� 	�4 1�$#"2� :�� :
�
 	)�
 �� �
��
�	�

�
�
�
�
�
 7�
�� 
� �5�
� �
	�� 	6��� 
6���
� �� ��:
�	�R �
	:	�
� :
�� )�

�=���	�
�� ����
�� ����
�4

!�����	)
�
�� 1�����	�
��� 7�
�� :
����� 	
��
6
��
��� ��	)�
 �
�� ��	�
2 :	� 	��� �
������	�
�
��
�� ����	�
 ��	�� 10
�4 C24 �����	�
��� 7�
�� :	�
	)��
��
� )� ��	��
�� ��
 	6��� 	� �," �M4 !���=
��	)�
 ��
�	�	�
��� )
�	� 7�
�� 
��
�
	�
�� 	��
� ��

��	�� :	� �
�
	�
�� 	� 
������	�
� )� ��
 
6�
�
�
�� 
�
0
�4 C� 1� L $��24 J�
� ��
 �
��
�	���
 :	� 
�=
��
	�
� �� �K��� ��
 	6�� ����
��
� �� 7�
 �����	=
�
����� 1��� 	����24 8�
 	��
�
�� :	� 	)��
��
� )�
��	��
�� ��
 	6�� 	� �," �M4 8�
� �
�
� ��
 	6��
:	� 5�

��
�� 	��
� ��
 ��	�� :	� �
�
	�
� 1	���: 
�
0
�4 K�� ��� �	�
�24 % ��	�� ���
��	�
�� ������
� 	� ��

�
�)�	�
 ���
��
	� �
�	6
� �� 
�� �
��
�� �
�
� 1�C3
�M24 �����	�
��� 7�
�� :	� �
=
��	)�
��
� :
�� 	
)�

�=���	�
�� ����
�� ����
 10
�4 C�� )����� �	�
�24

&�' + &�	�
 �
�
��
�� �� �����	�
��� 7�
�� 	� � L C��4 1�2 % �=
��
� �
���	�
9
�� ����
�� ����
 :	� 	���

� 	� ��
 �
�
 1��2 
��
=

�	�
� )� ��
 	���: )
��: 
	�� �
����
��4 1�2 8�
 �
�
 �� ��
 %&

��)�
5�
�� �� ��
 ����
 1��2 
� �����
� 	� 	 �����
�� �� �� 1:
��

)��� �� 	�� �� ����	�
9
� �� ��
 �
���� �� ��
 ���
����)
� ����
�

�"24 %� ��/�" � "4,� 	� 	)���� ��	��
�
�� 
� ��	�
 �
�
��
�� ��=

����
� 1������ �:� �	�
�� �� �2 	� ��
�
��
� )� J
���

 1�$332 ���

	 ��
�	�	�
�� :
����� ��	)�
 �
��
�� ��	�
4 8�	� 
�� ��
 	��
�
��

����� ��� )
 	��
�
�	�
� )� ����
�� ����
�4

&�' , 8
��
�	���
=�
�
��
�� ��	��
�
�� ���� ������	)
�
��

1�����	�
��� 7�
��2 �� )
��	)
�
�� 1�����	�
��� 7�
�� ���� 	 ��
6=


��
��� ��	)�
 �
��
�� ��	�
24 1�2 % �����	�
����� 7�
�� 	6�� 1� L

$��2 :	� �
�� 
� ����	�
 ��	�� 	� �," �M4 ���� �
�
	�
 �� ��

��	�� 1	���: )
��: ��
 �
����
��2 �����	�
��� 7�
�� 
��
�
	�
��

�
����
��
�4 1�2 8�
 �
��
�	���
 :	� 
���
	�
� �� �K��4 �	�

��
�	�	�
�� 	� 
� 1�24 �����	�
��� 7�
�� ����
��
� 	� 	 ��
�����

�
��
� �	�
 ��	� 	� $�� 1��� 	����24 8�
 	6�� :	� ���
 	�	
�

��	��
� 	� �," �M 1��
 
����24 ���� �
�
	�
 �� ��
 ��	�� 1
��
=

�	�
� )� ��
 	���:2 ��
 �
�)�	�
 ���
��
	� ���
��	�
� ��
����� 	� 
�

�
�	6
� �� 	 ��	)�
 �
�� ���
��
	� 1�C3 �M24 �����	�
��� 7�
�� :	�
�
=
��	)�
��
� )� 	 )�

�=���	�
�� ����
�� ����
 1������ 
����� �24

��, E4�4 ��	� 	�� %4 ���

�- �
��	)
�
�� 
� %6���



�� ���
� :����� 	6��� :
�� 
�
�	�
� � 
� 
6�
)
�
� 	
�
���� �
��
�	���
=�
�
��
�� ��	��
�
�� ����
������	)
�
�� �� )
��	)
�
��@	 �
<
�
�� ��	��
�
��
���� ��	� 
������	�
� 
� 0
�4 �� 
� ��	� ��
 ������	)�


�
�
�� ��� � ; �*�� :	� �����	�
��� 7�
��4

�.��� !?� %���! .0 �&.�8%�?.�� 0����'

J
 ��
�
����� ���
�
� ��
 �����	�
��� 	��
�
��
�)�
��
� 
� �5�
� �
	�� 	6��� :
�� 	��	�
�
 � 
 )�
	����
�� ��	� ��
 PP�
	�QQ ����
��� �D� :	� 
��
��
	���

�
�
�	�
� ���
� ��
�
 ����
�
���� 
4
4� �D 
� 	��
�	�
�
)� 
���	�
����	� ������� 1��	� B ���

�� �""�24 8�

���
� 	��� ����	
�
�� 
� 	��
�
�� �� �> 	�� ��	� 	
�
��
��
�� ���
�� 
�� ����
��� ��	&� 	�� 	� 
�:	��
�
��
7
� ���	��
�� 
�� ����
��� �>�
� 1��	� B ���

��
�""�24 8�
 �	��
� :	� ����� �
�
��	�� 
� ���
� �� �
=
���	�
 ��� �
�����4  �:
�
�� 
6�
�
�
��	� 
�
�
��

��� �>�
� 
� �	��
�� 
� �5�
� �
	�� 	6���4 J
 ��
�
�����
�	
�
� �� 
�����
 
� ��� ���
� ��
 ��� �������	��

1����
� �$#C24 �
��	�
�� �>�
� :
�� ��� )�
��� ��

���
� ���
 
� �
�
 :
�� ����	�
=��	�� �
	���
�
���
�� 
��
� ����
���� 	�� 
� ��A�

�� �� �
�
� �����	=
�
��� 7�
��� 	� 
� ��� ��
�
��� ���
�� )� �
�	
�
��
��
 	������
�� ��	� ��
 ���� ��	��
 :
�� 	��	�
�

� 
 
� ��
 �
���	� �� �D4 8�
 ��
	��=��	�
 ����
��=
����	�
 �
�	�
�� :
�� �D 1� 
 L 34*2 	�� :
����� �D
1� 
 L #4C2 
� ���:� 
� 0
�4 ,�4 8�
 �
�)�	�

���
��
	� 	� :�
�� ��
� �
�	�
�� �����
� ��
 ����	�

	6
� 
� �
�
��
� �� 	� �"4 J
�� � 
 L 34*� �" L �CC
�M4 J
�� � 
 L #4C� �" L �C3 �M4 8�	� 
�� �" 
�
���
����	�
9
� �����:
�� �
���	� �� �D� 	� 
� �� )


6�
��
� :
�� 	 �
� ���� �� 
�:	�� ����
��� �
�
� ��	�
��
 �
�
��	� ���
��
	� ��� �D 
� �K$ �M 1	�� %��
�=
�
624 8�
 ����
��=����	�
 �
�	�
�� :
�� �D L " 	���
�	� 	 �
�	�
�
 ����
 ��	�	��
� ��� � ; �,* �M�
:�
�� 
� 	���
)��	)�
 �� ��	&4 J
�� � 
 L 34*� �" 
�
��	)�
4 % )�

�=���	�
�� ����
�� ����
 
�
�
�� 	� %&
�����:
� )� 	 �
���� �� ��
 �
�)�	�
 ���
��
	� �� �"
10
�4 ,�24 J
�� � 
 L #4C� �" 
� ����	)�
4 J�
� ��

���
� 
� �
� 	� ��
	��=��	�
 ����
�
��� 
� ��
 �
�
�
��
�� �"� ��
 �
�)�	�
 ���
��
	� )
�
�� �� ���
��	�
4 8�

���
��	�
��� ���: 
� 	���
���
 ���
� 	� ��
��
�� ��	
�
�� %&� ������ 10
�4 ,�24 8�
� �
���� 
� �����
�
���=

�
�
 �
�
� ��	� ��
 �����	�
��� 7�
�� 
� ������
� )�
	 �
� ���� �� 
�:	�� ����
�� 
� ��
 ��)���
����� ��=
�
��
	� �	��
4 8�
 �
��	�
�� 
�� 
� �	��� ��
 �
�	�
�

����
 ��	�	��
� �� ��	&� :�
�� 
� �	��
� )� �D :
��
� 
 L 34*4 J�
� �D 
� �
���
�� ��	& ���
��
� :
�� �>
	�� ��	 �
��	)
�
9
� ��
 �
��
�� ��	�
 
�
� ������ ��

����
 �� ��
 ��
	��=��	�
 ����
��=����	�
 �
�	�
�� 	�
�" 
� ���
�
�
4 8�
 
��
�	��
@��
 
��
��
 �� ��

����
 �������	��
 	� �"@
� �
��
7�	���� 
���
	�
��
�� ��	� ��	�� ��	��
� 
� �
� �
�)�	�
 ����
�� :
��
������
 	 �	��
� ��	��
 
� �
�)�	�
 ���
��
	� ��	�
	� � 
 L 34*� ��	��
� :�
��� ���
��
� :
�� ��
 ��	
	�� �> �
�
�
��� ���
�	�
�� �	��
 � �� ����� ���
�����
�� ��
 %&4

8�
 �
����� 
� 0
�4 ,� 	�� � 	�
 �����
� 
� 	
�
<
�
�� �	��
� 
� 0
�4 3� 	�� �� �
��
��
�
��4 8�

�
� ����
��� �> R ��	 R���R �DR ��	& R ���
��
:�
�
 ���
� 
� ��
 ��
����� 
� 0
�4 ,�� 
� �����
� �	�
�
�)�	�
 ���
��
	�� :
�� �
�
 � 	� 	� 
���
�
� �	=
�	�
�
�4 18�
 �
�
��
�� �� �
�
 
� 
��
�	�
� )� ��

	���:� 
� 0
�4 324 8�
 	��
�� ���
��
	� 
� 0
�4 ,� 1� 

L 34*2 ��	�
��
� 	 ��	H
����� 10
�4 3�2 
� ����
��=
����	�
 ��	�
 )
���
 �
����
�� �� ��
 �
��
�� ���
�=
�
	�� �" 1
��
� �� 0
�4 3�24 J
�� � 
 L #4C� ��
 ��	=
H
����� ��
�	�� 	:	� ���� �" 	�� ���
�	�
�� ��	�
��
�
��
 	��
�� ���
��
	� ����
 �
�
	�
��� ���
�� ��
 ��=

��
�� %& ��	
�� 
� :�	� 
� �
��
� 	 �
�
� ����
 ��=
�
��	�
�� 1J
���

� �$3324

8?!&?�%8��? �?&?��?��? .0 �.��� ����?�8�

8�
 ��
�	�� 
<
�� �� �
��
�	���
 �� �
�)�	�

����
��� 
� �5�
� 	6��� 
� �� �> 	�� ��	 �	�
��4 8�


&�' - 1�2 ��
	��=��	�
 ����
��=����	�
 �
�	�
��� �� ��
 
��
�

���
� �
���
)
� 
� ��
 �
6� ��� � 
 L 34* 	�� #4C4 8�
 ���
 �
�=

�
�
��
 )
�:

� ��
 �:� ����
�
��� 
� ��
 ���
� 
� ��
 	)�
��
 �� �D
��� � 
 L #4C4 8�
 ���
��
	� 	� :�
�� 
	�� ����
 �����
� ��


����	�
 	6
�� �"� 
� �
��
�
��
� )� ��
 ���)�� 1�24 J
�� � 
 L 34*�

�" 
� ��	)�
 1�
�� ���
��
	�2� :�
�
	� :
�� � 
 L #4C� �" :	� ��=

��	)�
� 	� �
���
)
� 
� ��
 �
6�4 1�2 ?�
���
�	� 	��
�
�� ��� ��
 �:�

����
�
���4 % ����
�� ����
 
�
�
�
� 	� %& :
�� � 
 L 34*� �����:
�

)� �
���� �� ��
 �
�)�	�
 ���
��
	� �� �
��4 % ��
����� :	� ���

�
5�
�
� �� ������
 
�
���
�	� 	��
�
�� :
�� � 
 L #4C4 8�
 �
�=

)�	�
 ���
��
	� ���
� 	:	� ���� �" 
� 	� ���
��	���� �	��
� ���
�

%& ���
����� :	� �����
�� �
����
�� 
� 	� ��
��
�� ��	
� �� %��4

E4�4 ��	� 	�� %4 ���

�- �
��	)
�
�� 
� %6��� ��3



�
�
=
��
�
��
�� )	�������� ����
��� 
4
4� ��� R
��	& R �D� 	��
	�� �� �	�
 	 �
�	�
�
�� ��	�� �
�=
�
�	���
 �
�
��
��
4

%� 
���
	�
 
� �
��
�	���
 ��

�� �> �
�
�
��
10
�4 #24 8�
�
 �
����
��� :
�
 �)�	
�
� :
�� 88N 1�
�!2 	�� 	 ����	�
 ��
� �� R�" �M 1����
�� ���
��
	�
�#" �M24 8�
� 	�
 ���:� ���
�
����
� :
�� 	 7�
1
��
��
���
��	)�
 ���� ��
 �	�	2 �� S��
6�1��/�2T,

:
�� 	 ���� �� � �	� � )
��: ��
 �
����
���4 8�
 ��"
:	� *4,*� 	� ����	�
� �� ��" L * 
� ��
  ����
�
	��  �6�
� 1�$C�2 ���
�4 0�	��
��	��
� 	�� !���

1�$,*2 �
����
� 	 �
�
�	� �
���� ��� ��
 ��" �� �> 
�
��
�
�	�
� 	6���4

�
����
��� �� ��	 	� �	�
��� �
<
�
�� �
��
�	=
���
� 	�
 
������	�
� 
� 0
�4 $4 %� :
�� �>� ��
 ��	
�
�
�
�� 
���
	�
 :
�� 
���
	�
�� �4 �� 	��
�
��� ��

�
	� ��	 ����
�� 	���
���
 :	� �
��
�	���
 �
�
�=
�
��� 	� ��
�
�	��� �
����
� 
� ���� 	�� �	))
� ��
=
�
�	�
� 	6��� )� ��
�� !���
� 	�� �
���

 1�$3$2 	��

� �5�
� �
	�� 	6��� )� >
���	 	�� !
�
� 1�$3$2
	�� !	��
��� 	�� %�������� 1�$#�24 J
 �	�

�
���
)
� ��
�
 �
����� ��
�� ��
 M	��
�)
�� 	��
�
9	�
��	 1�$$�2 ���
� �� ��	 �	�
�� :�
�� 
�
�
�
� )�-

:�
�
 �
 1�L ���444C2 	�
 ����
� ��	�
�� �K� �C� 	�� � 	�


�	��
�	�
� ��	�
�� 	��� 
� ��
 ��
� 1�������
��2 ��	�

�� ��
 ��	��
�4 8�
 �	�
��� ����	�
=�
�
��
�� �	�

�	�	�
�
�� �� ��
 ���
�� �� �� 
� �� �� ��  � �� !� 	�� "� 	�

�
�
� 
� ��
 %��
��
64 %�� �� ��
�
 �	�	�
�
�� 	�

	����
� �� �	�
 	 �
��
�	���
 �
�
��
��
 1	�� %�=
�
��
62 
6�
�� ��� � 	�� �� ��
 �	�
 �����	��� ���=
�
��
�� �K 	�� �K4 ��
�
7�	���� �� �� !� 	�� " :
�
 	��
	����
� �� �	�
 ��
 �	�
 �
��
�	���
=�
�
��
��
�	�����  �
�	� :�
�
	�  	�� � :
�
 	����
� �� �	�
 	
�
<
�
�� �
��
�	���
=�
�
��
�� �	�����  �
�
4 8�
�

�	�	�
�
�� :
�
 	�H���
� �� 	� �� �
�
 	 �
	���	)�
 7��
)� 
�
� �� ��
 
6�
�
�
��	� �
����� ��� �L ��" �M4
8�
 �
����� ���  �
�	 	��  �
�
 	���� :
�� ��
 ����
=
�����
�� �
���	�
��� �� ��	 ���� ��
 M	��
�)
�� 	��
�
9	�
��	 1�$$�2 ���
� 	�
 ���:� 
� 0
�4 �"4 8�
  �
�	

&�' . ����
��=����	�
 ����� �� ��
 	��
�
�� 
�=

�����	�
� 
� 0
�4 ,�4 1�2 8�	H
����� �� �
�)�	�


���
��
	� �	4 �
�)�	�
 ����
�� 	� � 
 L 34*4 8�


���� ����
������ �� ��
 %& :
�� �
�
 � 	� 	 �	=

�	�
�
�4 8�
 �
�
��
�� �� �
�
 
� 
��
�	�
� )� ��


	���:�4 0����:
�� ��
 %&� ��
 ����
� �
����
� ��

�
�� 
� 	 ��
�	� �	��
� 	� 
��
�	�
� )� ��
 
��
�4

1�2 �
�
�	� ���� 	� 
� � ��� � 
 L #4C4 8�


�
�)�	�
 ���
��
	� ��
�	�
� 	:	� ���� �" :�
�

��
 ���
� :	� 
�
�
	�
9
� ����
 �� ��
� ���
��
	�4 ��

���
�	�
�� ��	�
��
� ��
 %& ��	H
����� �
�
	�
���


� :�	� 
� �
�
��
� �� 	� 	 �
�
� ����
 ���
��	�
��

1J
���

� �$3324 8�	� 
�� �" 
� ��
 ���� ��	)�



�
�
�� ��� � 
 L 34*� :�
�
	� ��
 �
�
� ����
 
�

��
 ���� ��	)�
 
�
�
�� ��� � 
 L #4C 1�L C��24

��# E4�4 ��	� 	�� %4 ���

�- �
��	)
�
�� 
� %6���



�
����� �	�
 	 ��" �� �4C4 8�
  �
�
 �
����� 	��
	� ��
�	���	�
 	)��
 �"��4 8�
�:
�
 �
���
)
� )� � S1*1��C2/
�"/1�R*1��C2/�"2T4 % �
�
�	� )
��	�
� �
�
��
��
 ��

�	��
�	�
�� �	�
�� �� � :	� ��
�
�	��� �
����
� ���
�	))
� ��
�
�	�
� 	6��� )� ��
� 
� 	�4 1�$3$24 ��
	����
���
� �
��	�
��� �	� �
���
)
 ��
 �
����� 
� 0
�4 �"

5�	��� :
��4 .�� ��
�	�� ������
 :	� �� �	�
 	 ��
=
��
�
�	� ���
� �� ��
 �
��
�	���
 �
�
��
��
 �� ��	
��� ��� �
���	�
��� �� �
�)�	�
 
6�
�	)
�
��4

��!�D%8�.�� .0 8 ? ?00?�8 .0 8?!&?�%8��?
.� ?D?�8���%D %�8�M�8+

%� ���
� 	)��
� ��� ���
� ��
� ��� �	�
 	 ��	)�

�
��
�� ��	�
:
�� �DL" ��� �
�	�
�
�� ��: �
��
�	���
�
1� � C��2� :�
�� 
� ���
 	��� ��� ��
 
6�
�
�
��	�
��
�	�	�
�� :
�� � 
O 3434 8�
 ���� ��	)�
 
�
�
�� 
�
�
�
�
�
�
 %& 7�
��� 
4
4� ��
 �
�
� ����
 10
�4 3�24 ��=
��
	�
�� � �� $�� ����
�� )
��	)
�
�� �� ��
 ���
� 10
�4
��24 8�
 ��
	��=��	�
 ����
��=����	�
 �
�	�
�� 10
�4 ,%2

� 
��
�
��
�� �� �4  �:
�
�� �" 
� ��	)
�
9
� )� ��


���
	�
 �� � ���� C �� $��� % �=��
� ����
�� ����
 ��
�
�	�
�
�� ��	�� 	���
���
 
�
�
�
� 	 ��)���
����� ��=
�
��	���� �
�����
 ��	� �
�	6
� )	�� �� �"� �
�
�	� ��
��
 �
���� 
�0
�4 C�4 %���� �� ��
�:	�
���� 
� ����
��=
����	�
 ��	�
 
� 	��� ���:� 10
�4 ���� ��� �	�
�24 %
�
�	�
�
�� �	��
=	���
���
 ����
�� ����
 
�
�
�
� ����=
�	�
��� �
�
�
�
�
 7�
�� 10
�4 �"#2� :�
�� ��
	���
�
������	�
� )
��	)
�
�� 
� ��
 ���
� ��� �L $��4 %�
'����	� 
� 	�4 1�$#"2 ���
�� 	� ����	)�
 �
�
� ����

���� 	��� 
6
�� ���
� ��
�
 ����
�
���� 
4
4� 	 )����	��

)
�:

� 	 �
�
�� �� 	���	��
�� �� ��
 ��	)�
 �
��
��
��	�
� �"� 	�� 	 �
�
�� �� 	���	��
�� ��� ��
 �
�
� ����

10
�4 ��� 	�� �24 8�
� �
	���
 :	� �
������	�
� :
��
����
�� ����
� 
� ��
 �
�
�
�� �� ���
����� ��� �
�
�
�
�

7�
��4J�
� ��
 ����
 	���
���
:	� 	�H���
� �� � �	��

� �"�" �
	� ��
� ���
������ �	��
=	���
���
� ��)=
���
����� ���
��	�
���:
�
 �)�	
�
� �	��
����""��
�
)
���
 �
�	6
�� )	�� �� �" 10
�4 �� ������24 % ��	��

���
	�
 
� ����
 	���
���
 �	�
 ��
 �
���� 
� 0
�4
���@	 ���� ��	
� �� ���
��	�
��� ��	� ���
�	�
�� �
� ��
�
�
� ����
 	��
�
��4 % ���� �� ��
�
 �
����� 
� ����
��=
����	�
 ��	�
 �
�
	�� ��
 5�	�
=��	)�
 �
�
� ����
� :�
��
���
�	�
�� ��
�	�� ��:� �� �" 10
�4 ���2� �� ��
�	��
���:	�� �� ��
 �
�
� ����
 10
�4 ���24 D	��
=	���
���

��)���
����� ���
��	�
��� �
�
�	� �� ��
 ��
� 
������	�
�

� 0
�4 �� :
�
 ���	�
��	��� �)�
��
� 
� ��
�
 
6�
�
=
�
��� ��� �* ; � ; �*��� 	������� 	 ���� ��	
� ��
���
��	�
��� :	� ��� �

�� ���)	)�� )
�	��
 �	�
���
��
�
 �����
� 
� ��
 
6�
�
�
��	� ��
�	�	�
�� �� ���
	���: ��
 �
�)�	�
 ���
��
	� �� )
 	�H���
� 	� ��
=
�
�
�� 	� 
� :	� 
� ��
 �
���	�
���4

% ��	��
 ���� 	 ������	)�
 ����
� 1�
�
� ����
2
�� 	 )
��	)�
 ��
 1�
�
� ����
 	�� ��	)�
 
5�
�
)�
��
��
��2 �����:
�� 	� 
���
	�
 
� �
��
�	���
 
� ����
�=
�
�� :
�� ��
 
6�
�
�
���� 	������� ��
 �
��
�	���

�	��
 �� ��
� ��	��
�
�� ��
� ��� �	��� ��
 
6�
�
=
�
��4 %����
� �
	���
 �� ��
 
6�
�
�
��	� �
����� 
�
��
 ���� �� �����	�
���� �
�
�
�
�
 	��
�
�� 	)��
 �*��
10
��4 �G*24 % �
�
�	� 
<
�� ������ 
� ��
 ���
� ��� �
O ���� 10
�4 ��24 ���
�
����
� �
����� 	� �* 	��
�,�� 1
6�
�
�
��2 	�� $ 	�� ���� 1���
�2 ����
�� 	
�
��	�
�� ��� ��
� �
����4 8�
 ��
�	�	�
�� 
� 0
�4 ���
:	� )
��	)�
 	� �*��4 �� :	� 
�
�
	��� 
� 
�� �
��
�� ��	�
4
�����	�
��� �
�
�
�
�
 7�
�� :	� ������
� )� 	 �=
��
� �
���	�
9
�� ����
�� ����
4 %� �,��� ��
 �
��
��	�
 :	� ��
 ���� ��	)�
 
�
�
�� �� ��
 	6��4 %� %&

�
�
�
� )� 	 �=��
� ����
�� ����
 ��� ��
� ����
�
�� 
�
���:� ���
�
����
� ���� ��
 7��� %& �� ��
 ��	
�

�
�
�
� )� 	 ����
�� ����
 	� �*�� 10
�4 ���24 8�

�
�)�	�
 ���
��
	� �����:
�� ��
 %& 	� �,�� �
���=

�
� 1�
���	�
9
�2 ��:	�� �" 	� 	 �	��
� �	�
 ��	� 
�
�
� 	� �*��� ���)	)�� )
�	��
 �> �
	��
�	�
�� :	�
�	��
�� ��
�
)� 	���:
�� ��
 )	�������� ����
��
1��	&R ���2 �� �
���	�
9
 ��
 �
�)�	�
 ���
��
	� ��
��
 �
�
�
�� �� �" )
���
 �
���
�� �� ��	 
�	��
�	�
��
:	� 	� �����
�
 	� 
� :	� 	� �*��4 ����
5�
�����
��
 	���
���
 �� 	�	
�	)�
 ��	 	� ��
 �
�)�	�
 ��=
�
��
	� �
	��
� �" :	� 
���A�

�� �� 
�
�
� 	 �
����
%& 	� ��
 �
��
� �
��
�	���
4 % �
�
�	� �
��	�
��
���
��

� ��
 ����
�����
�� �
���� 
� ��
 ���
�
10
�4 ���24

	�������



�.��� !?� %���! .0 �&.�8%�?.�� 0����'

8�
 �
� 
��
� ����
�� ������
��� ���
���
�� ����=
�	�
��� 7�
�� 
� �5�
� �
	�� 	6��� :
�� 	��	�
�
 � 


&�' / 8
��
�	���
 �
�
��
��
 �� �>4 8�
 �
����
��� 
� ��
 ���
�

�
�� :
�
 �)�	
�
� ���� 	� 	6�� :
�� 88N 	��
� �� ��
 
6�
��	�

�
�
�� �� )���� ��	 :
�� ����	�
 ��
�� �� R�" �M 1����
�� ��=

�
��
	� �#"�M24 8�
 �
����� ���� ���� �
<
�
�� �
��
�	���
� 	�

���:� ���
�
����
�4 ?	�� �
���� :	� 7� 1)� 
�
2 :
�� S��
6�1��$

�2T,4 8�
 7�� 	�
 �
���	��� 
��
��
���
��	)�
 ���� ��
 �	�	4 % ���� ��
� �	� � 
� ���:� )
��: ��
 �
����
���4 8�
 �
�
 
� 	 )
�� 7� �� ��


��
��� �	�
�� 	 ��" �� *4,*4

E4�4 ��	� 	�� %4 ���

�- �
��	)
�
�� 
� %6��� ��$



	�
 ��
 �
��
��
�� ���
�� 
�� ����
��� ��	&� 	�� ��

�
	� ������
��� �D4 8�
 �	��
� 	��
	�� �� )
 	��
�	�
�
)� 
���	�
����	� ������� �
��
 
� 
� 
�
�
�	�
� :
�� � 

	)��
 343� ��
�
)� 	���:
�� ��
 �
�	�
�
 ����
 ��	�=
	��
� �� ��	& �� �
��	)
�
9
 ��
 
5�
�
)�
�� ���
��
	�
��� �;�*��4 8�	� 
�� 	 ��		 �� 	 �
� 
�:	�� ����
�� 	�
��)���
����� ���
��
	�� �
	�� �� �����	�
��� 	��
�
��4

�����	�
��� 7�
�� 	��� ������ ��� �* ; � ; �*���
	������� ��
 
5�
�
)�
�� ��
�� 
� ��	)�
 
� ��
� �
�=
�
�	���
 �	��
4 8�	� 
�� ��
 	6�� 
� )
��	)�
4 8�
 ���

�� ��	& 
� �5�
� 	6�� 
�
���
�	� )
�	�
�� ��� ����
�=
���
�	� � 
 
� ����
	�� 	� 
� ��
 ���
� 
� 	��� �� ��
 � 
�
��
�
�
�� �� �D4 8�
 �	��
�� ���
��
� :
�� ��	& 	�� ���
�
���	�
9
 ��
 �
�)�	�
 ���
��
	� �� �" �����:
�� 	�

&�' (0 �
���	�
��� �� ��	 :
�� ��
 M	��
�)
�� 	�� �
9	�
��	

1�$$�2 ���
� 1%��
��
62 :
�� ����	�
 ��
�� 
� 
	�� �	�
� �� �,"�
�K"� ��"� "� R�"� 	�� R#" �M4  ���
�� ���
��
	� :	� �$" �M4
8�
 �
��
�	���
 �
�
��
��
 �� ��
 ���
� :	� 	��
��
� �� ��


	��
�	�
�� 1	�� �
	��
�	�
��2 �	�
 �	�	�
�
�� 	�� �� ��
 
�	��
�	=

�
�� �	�	�
�
�� 	� �
���
)
� 
� ��
 �
6�4 8�
 ��" ��� 	��
�	�
�� :	�

�4C 1)����� �
�� �	�
�24 8�
 ��" ��� 
�	��
�	�
�� 	��
	�
� �� �	�=

��	�
 ��� � � �C��4 8�
� 
<
�� :	� ���
�
� )� �1*1��C2/�"/
1�R*1��C2/�"2� :�
�� 
� �
��
�
��
� )� ��
 ��
��
�
�	� ����
 
� ��

)����� �
��� �	�
�4

&�' 1 8
��
�	���
 �
�
��
��
 �� ��	4 ?	�� �	�
� ����	
�� ���
�
����
� �
����
��� ���� 	� 	6�� �
����
� :
�� *"" �! ��
R �� )���� �>

	�� :
�� ����	�
 ��
�� �� �3"� �,"�444� R#" �M4 % �=�
� �
�� 
��
��	� :	� ��
� )
�:

� 
	�� ��
�4  ���
�� ���
��
	� :	� �$" �M4

��" E4�4 ��	� 	�� %4 ���

�- �
��	)
�
�� 
� %6���



&�' (( �
��	)
�
�� 
� ��
 ���
� ��� � L $��4
1�2 8�
 ���
� :	� 
�
�
	�
9
� 	� ��
 �
��
�� �
�
��

�"� :�
�� 
� ��	)�
 ��� � L $��4 % ��	��=	�=
��
���
 ����
�� ����
 
�
�
�
� 	 �
�	�
�
�� ��	��

�
���	�
9	�
�� ��	� �
�	6
� )	�� �� �" 
� 	� ��=

�
��	���� �	��
�� 	� 
��
�	�
� 	��� )� ��
 ���=

�
��=����	�
 ���� 	)��
 ��
 �
�����
4 1� 	�� �2

�
�����
 �� ��
 ���
� �� 	 �=��
� ���	�
��

����
�� ����
 :
�� 	���
���
 �
�
� )�

�K4#CK�"""$K 	�� �K4#CK�"""$C �% ����� �
=
��
��
�
��4 8�
�
 �
����� 
������	�
 	� ����	)�


�
�
� ����
@��
 )���
� )
�:

� ��
 �
�
�� ��

	���	��
�� �� �" 	�� ��
 �
�
� ����
 ����
�����=


�� �� ��
 %��4 1#2 �
�����
 �� ��
 ���
� �� 	

�
�	�
�
�� �	��
=	���
���
 ����
�� ����
4 8�
� �
=

���� �
������	�
� )
��	)
�
��4

E4�4 ��	� 	�� %4 ���

�- �
��	)
�
�� 
� %6��� ���



	��
�� ���
��
	� 	��� ���
��
� :
�� ��	 	�� �>� �
�� ��
�
�
��
�
 ��
 �
��
�� ���
��
	�4 !��
��
�� ��
 ��
�=

��
 �� �D 	� � 
 34* ��	)
�
9
� ��
 �
��
�� ���
��
	�4
8�
 �����	�
��� 7�
�� �
����
� �
�
 ���)	)�� ��
�
��� ��	� 	 ���
 
� �5�
� )
�	�
�� �
��
 
� 
� ���
�
��
��	� � 
 �
�	
�� 	)��
 343 ��� 
6�
��
� �
�
��� ��
�
�
 
� �
�� 1��	� B ���

�� �""�24

�.� ����?�8� �� .8 ?� �?��.��

8�
 ��	��
�	� ��	 	�� �> ������
��� ��	� 	�
 ��
�
��

� ���� �
��
 �
��� �� ���� 	�
�	� ��
�

� :
�
 �
=
����
� 7��� 
� ��
 �5�
� �
	�� 	6�� )�  ����
� 	��
 �6�
� 1�$C�24 8�
 �
��
��
�� ���
�� 
�� ����
���
��	&� :�
�� 	��
	�� �� )
 	 ��	��
� �
��
��� ���� ��	�
:	� 7��� �)�
��
� 
� �	��	�
	� )�	
� ��
�
 ��
=
�	�	�
��� 1��
��� �$$,24 �� 
� 	 �
�
�	� �
	���
 ��
������
� 	��
�
�� 
� �	�
��� )�	
� �
�
��� 1��
��� �$$,F
%��	:	�� 
� 	�4� �""�2� 	�� 
� 	��� ��
 ��
�
�	� ��)=
���
����� 
�
�
�� �� �����	�
��� 7�
�� 
� �5�
� 	6=
��� :
�� 	��	�
�
 � 
4 8�
 �D� �� PP�
	�QQ �������	��

:	� ��
�
�	��� ������
� )�  ����
� 	��  �6�
�
1�$C�2 �� �����
�
 	�� ����	�
� ������
���� 
�=
����
�� ��
 �����
�
 �������	��
4 8�
 �	��
� �	� �
��

)

� ���:� �� �	�
 
�� �:� �	��:	� 1����
� �$#C24
8�
 �D �
��
������ ��
� �
�
 �
�
�� �� 	 �����
�
7��
����	
�
�� �	�
�� ��	��
� ��	� �	��
� )��� ���
��
	�� ���	��
�� 
���4 8�
 ���
� �
	���
 �� ��
� ��	��
�

� ��	� 
� 	��
	�� �� )
 	��
�	�
� )� 
���	�
����	�
������� 1��	� B ���

�� �""�24 % �
�
�	� ��	��
� �	�
)

� ����� 
� �
����� �
����� �� ����	� ���� �	���
	

1�
�	�� B +
	��� �$$�F J	���	��� 
� 	�4� �$$32� 	��
�	� )

� �
��
� ��
 	�
�=�
��
�� 
�� ��	��
�� ��
%���4 %�� %���� �
����
� �� �	�
 	�
 	��
�	�
� )�

6��	�
����	� �������4 8�
 �5�
� �D ��	��
� �
<
�� 
�
��	� 
� 
� 	��
�	�
� )� 
���	�
����	� �������4

���8%��D�8+ �� .8 ?� &�?&%�%8�.��

8�
 ���
 �� )
��	)
�
�� �
����
� �
�
� 5�

��
��
 ��=

6
��
�� :
�� �����	�
��� 7�
��� 
� �
�	�
�
�� �	�
4
%����
� ���
 �� )
��	)
�
��@	��� ��������@
� ��


6
��
��
 �� �:� ��	)�
 �
��
�� ��	�
�4 0�� 
6	���
�
'	��)� 	�� ��	�
7
�� 1�$332 ����� �:� �
��
��
�
�
�� 
� �	��
	� &���
�H
 7)
�� ��� �
��	
� 
��
�
����
�
���� 	� �
� '	��
� 1�$#�2 
� �	�����	�
� ���=
���
� ���� ����
 ���

�� 	�� �	��
� 	�� �
���
�
�
1�$$�2 
� ���
 ������
�
�����4 8�
�
 �
����� 	�
 	�=
��
)��	)�
 �� 	� �=��	�
� ����
��=����	�
 �
�	�
��
��	� �����
� ��
 ����	�
 	6
� 	� ���

 ��
���� �:� ��
:�
�� 	�
 ��	)�
4 8�
 �5�
� �
	�� 	6�� :
�� 	��	�
�

� 
 �	� ���� 	 �
���
 
5�
�
)�
�� ��
�� :
�� 	 ��	)�

�
�
� ����
 ��	� 
�����
� ��
 
5�
�
)�
�� ��
�� 
� 	
����
��=����	�
 ����4 %� 	��
�
��	� ���
 �� )
��	)
�
=
��� �� 
�
� ����
��	)
�
��� �	� )

� ������
� )�
�	�	�

� 
� 	�4 1�$$K2 ��� )����
�� �
����� 
� ���=
�����4 8�
� ����
�� ��	� �:� �� ���
 �	��
��� ��
�����	�
��� 7�
�� �	� ��
6
�� ��� 	 �
�
� �
� �� 
6=
�
�
�
��	� ����
�
��� 	�� ��	� �
��������	���� �	�
����
�
 ��
 �:
��� )
�:

� ��
�
 �
<
�
�� )
�	�
���4

.�
 �� ��
 ���� ��	�	�
� ����� �� )
��	)
�
�� 
�
�
���
���	� 7)�
��	�
�� 	�� ��
 ����
��
�� )	�� ��
����	� �
��� ������ 

��
� )� 
�
���
�	� �
7)�
��	�
��
�� ���� 
��
��
��
�� 1D�:� 
� 	�4� �$,324 %����
�

6	���
 
� :�
�� 5�

��
��
 
� ���
��
	��� �
�
=
���
	�
�
�� 
� ����	�
� 	��
	 
� ��

�
�� 
��	���
1�����	�� B 8	�)
��� �$##24 8�
� ����
�
�� �	� )

��
 �� �	���� �:
���
�� �� ��
 �
���	� )�
	��
��
���
��	��� ���� 
�� ����	� ������ 1
���
	2 �� 5�

�=
�
��
 1	��
	2� 
4
4� )
��	)
�
�� 1&	��	��	� B ��
��
��
�$$324 % �
�� ��	�	�
�� )�� �� �
�� 
�����	�� 
6	���

�� )
��	)
�
�� �	� ����� ���
�� 
�
�
��
� �

9��
�
1���	�� 	�� �
����� �""�24

"

�����



8�
� �
���� �
������	�
� �
��
�	���
 �
�
��
��
 ��
)
��	)
�
�� 
� �5�
� �
	�� 	6��� :
�� 	��	�
�
 
���	=
�
����	� � 
4 8�
 ��
�	�	�
�� �	� ����
�
 	 ���
�
��� ����

� �� ������
�
�� 
� �
�����4 0�� 
6	���
�
:
 �	�
 �
�
���� ��
� ��
� ����
� �� �
������	�

��
�
=
����
� ��	��
�
��� )
�:

� ��
 �:� ��	)�

��	�
� 1&	��	��	�� 0���
� B ��	�� �""�24 8�
�
 �
�����
�	� �	�
 �
�
�	��
 ����
��
�� ��
 ���
 �� ��
�
 
�
�
����	� �
��	�
��4

8�
 	������ ��	�
����� 	����:�
��
 �
�����
��� ����
��
�� ��
�



6�
�
�
��� :
�� �4 0���
� 	�� �4 &	��	��	�4 8�
 :��� :	� ���=

����
� 
� �	�� )� ��
 �	�	�
	� ����
���
� ��� 
	����
�
	��� 1%4�424

&�' (* 8�	��
�
�� ���� )
��	)
�
�� �� 5�

��
��
 :
�� 
���
	�
��

�
��
�	���
4 1�2 ����	�
��� �� 
�
���
�	� 	��
�
�� 	� �* 	�� �,���

8�
� ��
�	�	�
�� :	� )
��	)�
 	� �*��4 % �
���	�
9
�� ����
�� ����

������
� 	 ��	��
�
�� )
�:

� �" 	�� ��
 �
�
� ����
4 %� �,�� ��

��
�	�	�
�� :	� 5�

��
��4 %� 	��
�� ���
��
	� 
�
�
�
� )� 	 �
=

���	�
9
�� ����
�� ����
 
� ���
�
����
� ���� ��
 �
����
�� 	�

�*��4 8�
 �
���
�� ���� ��
 ���� �� ��
 %& :	� �	��
� 	� �, 	�

����	�
� �� �*�� 1	���: 
� �24 8�
 
���
�	�
��� �� ��
� �
���� 	�


�
�����
� 
� ��
 �
6�4 1�2 �
���	�
��� �� 	 �
�
�	� 
<
�� 
� ��
 ���
�

��� $ 	�� ����4

��� E4�4 ��	� 	�� %4 ���

�- �
��	)
�
�� 
� %6���



����
���

?�
���
�	� 	��
�
�� :	� �
���	�
� ��
��

������ � ���	 � �> � ��	& � ��� � �D� � "� �%��
:�
�
 � 
� �
�)�	�
 �	�	�
�	��
 1��0 ����2� � 
� �
�)�	�


���
��
	� 
� �M� � 
� �
�
 
� ��
�� 	�� ��
 �	�
��� 
�� ����
��

������
��� 	�
 
� ��
�� �� �0 ����4 8�
 ��	 ���
� 
� �	�
� ����

M	��
�)
�� 	�� �
9	�
��	 1�$$�2 	�� 
� �
���
)
� )� ��
 �
�
�
�

�
	��	� �
�
� 	)��
 1�
�����2 	�� 
� ��
�
��� :��� ���� ��
�

�	)��	���� 1��	�� �$$#24 8�
 ��	 	���
���
 
� �
�
� )�

��	%"��
6���� � ��	���K	 � �
�
��
6�����K� � �	��� "�K 
6���"�"*# ���K�	


:�
�
 ��	 L ��C ������� ��	 L ,K �M� 	�� %" 
� ��
 ���)	)
�
��

��	� ��
 ��	��
� 
� 
� ��
 ��
� ��	�
 
� ��
 �
�
�
� �
	��	�48�


�	
�
��� �	�
 �����	��� 
� ��
 �
	��	� 1
� ��
���2 	�
 � L 34CC


6�S"4"�31���"2T �	� � L C4, 
6�S�"4"""�31���"2T �	� 
 L ��


6�S"4",1���"2T �	� � L � 4# 
6�S�"4"�1���"2T �	�  L "4C, 
6=

�S"4"""K1���"2T �	� � L 
6�S"4""""K1���"2T� � L "4""C� 
6=

�S�"4"*#1���"2T �
� � L "4""$�# 
6�S�"4"*#1���"2T� ! L ��


6�S1"4"�K 1���"2T �	� 	�� "L �4�, 
6�S�"4"K#1���"2T �	� :�
�

�	 L �4C1��C2/�" 	��* �
 L �S*1��C2/�"/1�R*1��C2/�"2T4 8�
 �> ���=

���
�� 
� �
�
� )� �> �1�� �2K �S
6�1�/�K2 �&�1�2/&�TS
6�1�/�K2

��T� :�
�
 �> L C" �� ���� 	�� �1���2 
� �
�
� )� ��$�� L � 1�
R �2 �R �� :�
�
 �L �"4"�1�RK#2/U
6�S�"4� 1�RK#2T ��V ���
� L "4� 
6�S� 1�RC#2/�CT ��� 	�� �� L *4,*1��C2/�"4 8�
 
���	=
�
����	� > 
�� ����
���	�
��� &�� 
� *"" �!� 	�� ��
 > 
�� ���=

�
���	�
�� 
� ��
 
6��	�
����	� ��	�
 )
�:

� ��
 	6��	� �
�)�	�


	�� ��
 ��
	� �
��� ��	� �������� ��
 	6�� 
� �
�
� )� &�1�2� :�
�


�&���� � �""3�> � �&���� � �"��"��
� ���� �&���� � �"����*�� � �&�������� �%��

8�
 ��� ���
� 
� )	�
� �� �
����� 
� ����
 1�$#C2 	�� 
� �
�
� )�

��� � "�,��
6�����K� � "�"�	��
6�����K� � �	� �%*�
8�
 ��	& 
� �
�
� )� 1�	��:��
 
� 	�� �$#CF ��	� ���

�� �""�2

��	& � ,����K��"�"* 
6�����K� � "�K*��
� ��
6�����K� � ����� 
6����� � ,C��3��	 �%K�

8�
 �D ������
�� 
� �
�
� )� "4* 1�RK$2 ��� ����	� � 
 	�� " ���

	��	�
�
 � 
 1� 
 O 34324

!�����
���

%��	:	�� �4�  	�	�� �4�4� !	�
���
��
� E4� %������ %4� �	���	�
�

�4�4 �""�4 &
��
��
�� ���
�� ��	��
� 	��
�
�� �
�
	�
� ��)=

���
����� �
�)�	�
 ���
��
	� ���
��	�
��� 	�� ��:=���
�����

��
�
� 
� �	� 
�����
�	� ����
6 �	�
� M �
�����4 '�(��	
���
�

(0*$C*G,K4

�	��
�� �4� �
���
�
�� !4�4 �$$�4 �����
)��
�� �� �	 	�� �	=	��
=

�	�
� �� ��	��
�� �� �
�
�
�	�
�
 �
���	�
9	�
�� 	�� �
�)�	�


)
��	)
�
�� �� ���
 ������
�
�����4 )� '�(��
�!	���� -/$�KCG�CC

�
�	�� �4� +
	��� E4 �$$�4 &������ 	��
�	�
 	 �	�
�� �������	��
 
�

	 ��)=�����	�
�� �� �	� ����	� ���� �	���
�� �
����� )� %�!	���4

+))$�KCG�,�

�	�	�

���4�4��	6�
���4%4���	��� E4J4�����
� E4 4�$$K4!���
��


���
� �� 	��
�
�� 
� 	 ���
� �
���� ����
�� 	 ���
� �
��	�
��

��� ��
 
<
��� �� �
��������	����4 )� '�(��
�!	���� .*$#3�G##�

��
�� �4+4� !���
�  4?4� �
���

� E4!4 �$3$4 %���	���� �
��
�=

	���
 �
�
��
��
 �� ��
 ���
�� �������	��
 
� �	))
� �
��


����	�
� :
�� ���� �
��
4 '��(�� *.1$*�3G*�#

��	�� E4�4 �$$#4 ?6�
�	)
�
�� �� ��
 �5�
� �
	�� 	6�� �
�
�
�
�4

)� '�(��
�!	���� /0$$"*G$�*

��	�� E4�4� ���
�
��
�� !404 �$#*4 ?<
��� �� 
6�
��	� �
�
�� 	��

��)
�
�� �� ���:	�� ���	��
�� ����
��� 
� �5�
� 	6���4

���
�!	� )� +*$K*GC*

��	�� E4�4� ���

�� %4 �""�4 %��
�� ���
��
	�� ����� �����	�
�����


� �5�
� �
	�� 	6��� :
�� ���
�	�
�� 	��	�
�
 
���	�
����	� � 4

����� �(��� *0($�#,G�$�

��
��� J4 �$$,4 &
��
��
�� ���
�� ����
�� 
� �	��	�
	� �
���	�

�
�����4 ���� *��� %�!	���� ,/$*K$G*,�

���	��� �4!4� �
����� !4 �""�4 �����
��
�� 	�� ������� �� 
�
=

�
��
���� 	��
�
�� )� 
�
���
�	� ��
���	�
��- % �
�

:4 %��
�

����� /1$�",CG�"#�

0�	��
��	��
�� �4� !���
� D4?4 �$,*4 8�
 
<
�� �� �
��
�	���
 ��

��
 ���
�� 	�� ���	��
�� �
��
	)
�
�� ��	��
� 
� ��
�
�	�
�

�
��
 7)
�� �� +���
(	 ���!�	� )� %�!	���� (-1$K*�GK*3

'	��)�� �4�4� ��	�
7
��� &4&4 �$334 8:� �
�
�� �� �
��
�� ���
��
	�


� �	��
	� &���
�H
 7)
��4 )� ,��� %�!	���� .0$3�CG3K,

'	��
�� ?4>4 �$#�4 M���	�
 ��	�� ����

� 
� �	�����	�
� ����

����
 ���

� ������
�4 -
���
� *(+$KC#GK,"

'����	�� �4� D
:
�� �4� �
�9
�� E4 �$#"4 ������� �� �
�
�
�
�
 7�
��


� �5�
� 	6�� �
�)�	�
 	� 	 ���
� ��� 	 �
���� ���
��	���4

)� %�!	���� )0,$*33G*$C

 ����
�� %4D4�  �6�
�� %404 �$C�4 % 5�	��
�	�
�
 �
���
��
�� ��

�
�)�	�
 �������	��
 	�� 
�� 	���
�	�
�� �� �������
�� 	��


6�
�	�
�� 
� �
��
4 )� %�!	���� ((.$C""GCKK

����
� �4 �$#C4 M���	�
=�
�
��
�� �����
�
 �������	��
 �� ��


�5�
� 	6�� �
�)�	�
 	�� 
�� )����	�
 )� ���
 �
������
�

��
�)
�
 �
�
�	�
�
�4 )� ,��� %�!	���� /,$C�$GC*3

E	�
�
� E4 %��9
�
�
���� �4 �$3$4 &�	�
 �
�
��
�� 	�� 	��
�
�	�
�� ��

�	�
�	�
� 	��
�
�� 
� �	��
	� �
���
4 -
���
� *0-$,$CG,$3

>
���	� E4?4� !
�
��  4 �$3$4 8�
 
<
�� �� �
��
�	���
 �� ��


	����
��
�	� ��	��
 ���
�
�� 
� �5�
� �
	�� 	6���4 )� %�!	����

*/1$K3$GC""

D�:�� �4� 0	����� %4!4�  ���� J4�4� 8����� '4J4 �$3,4 ����=

�	�� �	�
 ��
� G �
: �
���
��
�
� 	�� �
�
��
���4 )� ��� .���

�		�
� (11$�##G�$#

!	��
���� �4�4� %��������� �4!4 �$#�4 ?�
�
��
 ��� 	 �����	�
��

�� ��

�� ���
�� ��	��
�� 
� �5�
� 	6��� 	� ��: �
��
�	���
4

)� ,��� %�!	���� .1$3*$G3C#

.�
�� 84�4� '
���� J404 �$$"4 E
�=����
��
� 
��	�
 
� ��
 �5�
�

������ �
���	
��	- ����
��
� ������� )� �
	�� 	�� ���=�
	��

����� 	6�� �	��:	��4 %��
� '���� �
��� -
�� /-� #3-�$��G

�$�C

&	��	��	�� �4� ��
��
�� �4!4 �$$34 ����	�
� 	��
	@�	�	��6
�	�

��	������	�
�� �� 
���
	 )� �
����)	�
��� ��	� 
��
)
� 
���
=

�	�
��4 .��� 0!
���� +1$�$G�,

&	��	��	�� �4� 0���
�� �4�� ��	�� E4�4� �""�4 ������� �� ��	��
�
���

)
�:

� �
�
�
�
�
 7�
�� 	�� 5�

��
��
 )� �����	��
� ��
���	�
��

�� �5�
� 	6��� :
�� �
�)�	�
 )
��	)
�
��4 )� %�!	���� ,)-$��"�

�	��:��
� �4� �
J

�� &4� '	��)�� �4 �$#C4 8��
����� ��	��
��

�	� 	������ ��� ��
	��=��	�
 88N=�
��
�
�
 ���
�� ����
�� ��

�5�
� 	6��4 ���
�!	� )� +.$%*�

���

�� %4� ��	�� E4�4� ������� �4!4 �$$"4 ?<
��� �� �
�������6
�

�� �
	�� �
�� 	���
�	�
�4 ���
�!	� )� ,/$,�*G,�$

�����	��� �4&4� 8	�)
��� �4'4 �$##4 !
��	�
��� ��� 	)����	�

	��
	 �� ����
)�
 �
�
�	��
 �� ��
 ����
� 
��	�� �
	�� ���=

����
4 ���� '1 �
��� ,))$*�$G*K$

M	��
�)
��� �4%4� �
9	�
��	� 04 �$$�4 % ���
�� ��	��
� �	�
��

���
� )	�
� �� �
���
 ��	��
�� �	�������
� 
��
�� 	�� �	�
��

����
��� 
� ��
 �5�
� �
	�� 	6��4 ���
�!	� )� -0$�C��G�C**

J	���	��� �4� ��	��
���� '4� �	��
�
	��	� 04�  
���
	�6� �4�

D	�9����
� !4 �$$34 % ������=�	�
� �	�
�� ��	��
� 
�����
� 
�

	�
�=�
��
��4 '��(�� )/-$�3*G�33

J
���

� %484 �$334 &�	�
 ������� �� �
��	� �	�
�	�
��4 -
���
�

(1.$3,�G3,*

J����	�� �4 �$$$4 8�
 !	��
�	�
�	 ����4 K�� 
�4 J����	� !
=

�
	/�	�)�
��
 ��
�
��
�� &�
��� �
: +���4

E4�4 ��	� 	�� %4 ���

�- �
��	)
�
�� 
� %6��� ��*


